1.

Which does not fit? MEXICO
Circle the lether of the best answer for each guestion.

Which country does not border Mexico?

the United States . Guatemeala
Balize . Honduras

imdigenocwus tribke did not once live in what is now Mexico?
MMaryra . Azbec
Tivcan . Zapobed

probblem is not a major issue for Mexico #
excess of skilled workers C. enwviromnmental pallution
water shortages . loss of skilled workers

Morth American physical feature is not in Mexico?
Mesa Central . Coppaer Canyon
Chihuahuan Desert . Mojave Desert

Which of these is not the nanwe of a Mexican state?

-1
B.

O T . Chilwahiia
Morelia . Puebla

wihich animal is ot found in Mexico?

AL
B.

crocodile . leopard
Parrot . spider monkey

Which of these is not a significant part of Mexican life?

i
B.

Which food is not one of the top crops in Mexico?

-
B.

horseracimg . soccer
Catholic Churclh . fiestas

TRy . bananas

welheat . SUgarcanes
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